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Name: __________________________________



1
The diagram below shows the construction of the bisector of [image: image1.png]ZABC



.

[image: image2.png]



Which statement is not true?

	1)
	[image: image3.png]mLEEF= % mLABC





	2)
	[image: image4.png]m/DBF= % mLABC





	3)
	[image: image5.png]ms EBF = msABC





	4)
	[image: image6.png]ms DBF = ms/ EBF







2
A student used a compass and a straightedge to construct [image: image7.png]CE



 in [image: image8.png]MABC



 as shown below.

[image: image9.png]



Which statement must always be true for this construction?

	1)
	[image: image10.png]L ORA = LCRER





	2)
	[image: image11.png]SACE = /BCE





	3)
	[image: image12.png]




	4)
	[image: image13.png]






3
Based on the construction below, which statement must be true?

[image: image14.png]



	1)
	[image: image15.png]mZABD = % mLCBD





	2)
	[image: image16.png]msABD = msCBD





	3)
	[image: image17.png]msABD = mZABC





	4)
	[image: image18.png]m/CBD= % mLABD







4
A straightedge and compass were used to create the construction below.  Arc EF was drawn from point B, and arcs with equal radii were drawn from E and F.

[image: image19.png]



Which statement is false?

	1)
	[image: image20.png]msABD = ms DBC





	2)
	[image: image21.png]% (ZABC) = mLABD





	3)
	[image: image22.png]2(ms DBC) = msABC





	4)
	[image: image23.png]2(msABC) = s CBD







5
As shown in the diagram below of [image: image24.png]MABC



, a compass is used to find points D and E, equidistant from point A.  Next, the compass is used to find point F, equidistant from points D and E.  Finally, a straightedge is used to draw [image: image25.png]


.  Then, point G, the intersection of [image: image26.png]


 and side [image: image27.png]BC



 of [image: image28.png]MABC



, is labeled.

[image: image29.png]



Which statement must be true?

	1)
	[image: image30.png]


 bisects side [image: image31.png]BC





	2)
	[image: image32.png]


 bisects [image: image33.png]L BAC





	3)
	[image: image34.png]AFLBC





	4)
	[image: image35.png]MABG ~ AACE







6
Which diagram shows the construction of a 45° angle?

	1)
	[image: image36.png]




	2)
	[image: image37.png]




	3)
	[image: image38.png]




	4)
	[image: image39.png]






7
Which illustration shows the correct construction of an angle bisector?

	1)
	[image: image40.png]




	2)
	[image: image41.png]




	3)
	[image: image42.png]




	4)
	[image: image43.png]






8
Using only a ruler and compass, construct the bisector of angle BAC in the accompanying diagram.

[image: image44.png]




9
Using a compass and straightedge, construct the bisector of the angle shown below.  [Leave all construction marks.]
[image: image45.png]




10
Using a compass and straightedge, construct the angle bisector of [image: image46.png]ZABC



 shown below.  [Leave all construction marks.]

[image: image47.png]




11
On the diagram below, use a compass and straightedge to construct the bisector of [image: image48.png]ZABC



.  [Leave all construction marks.]

[image: image49.png]




12
On the diagram below, use a compass and straightedge to construct the bisector of [image: image50.png]


.  [Leave all construction marks.]

[image: image51.png]




13
Using a compass and straightedge, construct the bisector of [image: image52.png]SNETH



.  [Leave all construction marks.]

[image: image53.png]




14
Using a compass and a straightedge, construct the bisector of [image: image54.png]L DR



.  [Leave all construction marks.]

[image: image55.png]




15
Using a compass and straightedge, construct the bisector of [image: image56.png]ZCBA



.  [Leave all construction marks.]

[image: image57.png]




16
Using a compass and straightedge, construct the angle bisector of [image: image58.png]ZABC



.  [Leave all construction marks.]

[image: image59.png]




17
Using a compass and straightedge, construct an equilateral triangle with [image: image60.png]AB



 as a side.  Using this triangle, construct a 30° angle with its vertex at A.  [Leave all construction marks.]



[image: image61.png]
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